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Problem Set No.2:

Horizontal  Curve Geometry
DUE 1/19/00
Low-Volume Road Design

FE 346
Winter Quarter

Problem 1

Given DELTA = 43°05' and E = 172 ft (approx).  What is the degree

of curve?



Problem 2

If DELTA = 30°12' and D = '2°48', find T and L.


Problem 3

Using the data of Prob. 2 and assuming the PI to be at Sta.


42 + 16.6, what is the correct number for the PT?


Problem 4

If the radius of a curve is 4,000 ft, calculate the deflection angle


for a 40-ft arc 


Problem 5

What is the middle ordinate M  for an arc of 100 ft, which sub-


 tends a central angle of 8°00' ? 

Problem 6

Given D = 6°00' (arc definition) and the PC at Sta. 21 + 00.


With reference to the PC and the initial tangent, what are the coordinates x and y locating Sta. 23 + 00?

(also see Hickerson p. 67)


Problem 7

Given DELTA = 22°36' and D = 4°. With the PC at Sta. 40 + 22.4,


calculate the deflection angles for the circular curve and check by


seeing that the last deflection (to the PT) = DELTA/2.

(see Hickerson p. 83)

Problem 8

Given D = 1°15' and PC at Sta. 32, what is the "deflection distance" q for setting Sta. 33+00 ? 

(see Hickerson p. 96)


Problem 9

Given D = 1°15' and the PC at Sta. 32 + 20, what is the

"deflection distance" for setting Sta. 33+00 ? 

(see Hickerson p. 96)

Problem 10

Given DELTA = 47°12', PI = Sta. 58 + 22. Find T, E, and L for

D = 6°00' (arc definition); also stationing of the PC and PT.


Problem 11

Same as Prob. 10, except for chord definition.


Problem 12

Given DELTA = 24°20', R = 5,000 ft. Locate the PC and PT, if

PI = Sta. 36 + 42.32. 

Problem 14

In the layout of a 15° curve, if two equal chords are used instead of one 100-ft chord, what should be their length? 

Problem 15

In the layout of a 15° curve, if two equal chords are used to


establish a I00-ft arc, what should be their length? 
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